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QUESTION 1

In a Job Sequence, what is the purpose for the use of Checkpoints?
A. Monitor performance and failure for each stage

B. Automatically restart a job

C. Record the log information for each trigger

D. Restart a job from the latest Checkpoint in case of job failures

Correct Answer: D

QUESTION 2

Under which scenario may a user benefit from using InfoSphere Discovery?
A. Automate data relationship discovery

B. Prototype a data model for the first time

C. Automate transformation rule discovery

D. Automate business object identification

E. All of the above

Correct Answer: E

QUESTION 3
Using a Job Sequence, which of the following tasks CANNOT be performed?
A. Define specific user variables and make them available within a Job Sequence

B. Drop a database table using a script, then start two different parallel jobs in sequence when a file appears in a
specific directory

C. Run two different parallel jobs in sequence and use job parameters to pass different $APT_CONFIG _FILE values for
each of them

D. Create multiple Exception Handlers stages to handle different types of failures

Correct Answer: D

QUESTION 4

For the Information Server Repository, which Relational Database Management System (RDMS) CANNOT be used?
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A. Microsoft SQL Server
B. Informix

C. DB2 UDB

D. Oracle

Correct Answer: B

QUESTION 5
How can FastTrack speed up the process of creating new source-to-target mapping specifications?
I.Reverse engineer existing DataStage jobs Il.Automatically discover column mappings using matches on column

names lll.Leverage metadata imported from other Information Server modules IV.FastTrack automatically converts data
lineage reports into mapping specifications

AL IV
B. I, NI, IV
C.LLI v

D. L,

Correct Answer: D
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